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Part 1:  Give the meaning of the Latin word from which these are derived. 

1.  capital: 		a) head 		b) take 			c) cash 		d) desire 

2.  science: 		a) reveal 		b) left 			c) know 		d) complete 

3.  intimidation: 	a) frighten	 	b) insertion 		c) fear		 	d) oppress 

4.  verify: 		a) understand 		b) think 		c) true 			d) save 

5.  inevitable: 		a) avoid		b) life 			c) end 			d) win 

6.  pellucid: 		a) cover 		b) light	 		c) love 			d) unite 

7.  interjection: 	a) speak 		b) see	 		c) right 		d) throw 

8.  doctrine: 		a) study 		b) learn 		c) teach 		d) write 

9.  scripture: 		a) understand 		b) reveal 		c) learn 		d) write 

10.  invocation: 	a) call		 	b) curse 		c) consider 		d) faithfulness 

11.  immortality: 	a) live	 		b) illness		c) death 		d) limit 

12.  confluence: 	a) story 		b) flow 		c) unity 		d) wealth 

13.  exacerbate: 	a) sharp 		b) remove 		c) smooth 		d) bad 

14.  disparity: 		a) prepare	 	b) even		 	c) beget	 	d) obey 

15.  devastation: 	a) destroy 		b) enormous 		c) increase 		d) attack 

16.  inundate: 		a) sea		 	b) heavy 		c) enter 		d) wave 

17.  augmentation: 	a) increase 		b) moon 		c) draw 		d) sharpen 

18.  taurine:		a) bull 			b) neck 		c) rabbit 		d) fish 

19.  nasturtium: 	a) cow 			b) nose 		c) skin 			d) lung 

20.  cerebral:		a) knee		 	b) mouth	 	c) back 		d) brain 

21.  turpitude:		a) damp 		b) disgraceful 		c) swollen 		d) charming

22.  potable:		a) swell 		b) be able 		c) place 		d) drink 

23.  infrangible:	a) harm 		b) break 		c) supply 		d) stop up 

24.  annihilate:		a) wipe out 		b) nothing 		c) belief 		d) think 

25.  navicular:		a) new	 		b) ship 		c) propel 		d) bird 

Part 2:  Select the answer choice that is closest in meaning to the italicized word.

26.  Coffee has again declared to be healthful.
a) exsanguinate 	b) auxiliary		c) salutary 		d) imprecated 

27.  The source of his hatred for bigotry was well understood. 
a) censure 		b) odium 		c) ambivalence 	d) exactitude 

28.  She will agree no matter what the group decides. 
a) impose 		b) remit		c) prevail		d) concur 


29.  Mr. Owen was not involved in the recent cheating scandal.
a) exonerated 		b) implicated 		c) deposed 		d) dispossessed  

30.  The prehistoric bracchiosaurus is named for its:
a) extensive forearms 	b) boney back plates 	c) club-like tail 	d) spiked tail 

31.  There are 12 known examples in history of feral children.
a) raised in the wild			b) magnetized 		
c) nearly impervious to pain 		d) having a near flawless memory 

32.  Professor Parker, a man of omnifarious knowledge, taught generations of students.
a) specialized in metallurgy 		b) pertaining to the Underworld, to atrocities 		
c) wide-ranging, of all kinds 		d) pertaining to herbology, especially agricultural 

Part 3:  Based on your knowledge of derivatives, choose the answer that best completes or matches the sense of statement:

33.  An ossuary is for: 
a) applying makeup 	b) collecting bones 	c) protecting shins 	d) planting seeds 

34.  A pedestrian novel is:   
a) ordinary 		b) extraordinary 	c) unique in scope 	d) a travel story 

35.  The incipient reunion plans were presented.
a) finalized 		b) covering all costs 	c) ludicrous 		d) in early development 

36.  The citizen attacked the councilman’s claim of support, enumerating examples of his opposition the neighborhood’s requests.   
a) impute 		b) inveigle 		c) impugn 		d) impulsion 

37.  The main characteristic of the ungulates is their: 
a) long forearms 	b) hooves 		c) lack of tails 		d) scales 

38.  The albumen of an egg is named for its:
a) sulfur content	b) shape 		c) color 		d) water resistance 

39.  The lack of propinquity of the weapon to the corpse makes homicide likely.
a) nearness 		b) cleanliness		c) contamination 	d) matching in outline 

40.  The big diesel engine made a _____ noise. 
a) taciturn		b) sonorous	 	c) temporal 		d) consummate 

41.  The truck’s bumper was just touching the bark of the tree, leaving a dent on neither.
a) appurtenant 		b) tangent 		c) impetuous 		d) ponderous 

42.  The manager’s quickly scanned impression of his boss’s note extracted merely the gist of the message.
a) cursory 		b) impervious 		c) retractive 		d) recapitulated 

43.  The secretary smothered her boss with the dire necessity of her taking Friday off. 
a) docile 		b) importune 		c) inveterate 		d) parsimonious 

44.  Her contributions to the discussion are always penetrating, clear and sharp.
a) expedient 		b) incisive 		c) sardonic		d) insipid 

45.  His writing is so verbose that is it unpleasant to read. 
a) wordy 		b) academic 		c) arcane 		d) dense 

46.  This group project is mandatory. 
a) done by hand 	b) required 		c) due at end of term 	d) with many steps 

47.  I would like to elucidate this last point. 
a) clarify 		b) eliminate 		c) disagree with 	d) take away from 

48.  The cost of most recycling is prohibitive. 
a) impounded by authorities		b) absorbable by the process	
c) too expensive to be practicable	d) advantageous enough to be competitive 


49.  The eldest son relinquished his rights to an inheritance. 
a) questioned 		b) claimed 		c) surrendered 		d) demanded 

50.  The last two numbers were flipped. 
a) inverted 		b) averted 		c) controverted 	d) reverted 

51.  Years will pass before for the young grub develops a tegument.
a) complex of tunnels 	b) powerful pincers 	c) protective shell 	d) mating chirp 

Part 4:  Give the meaning of the prefix in these words:

52.  composite:	a) by	 		b) from 		c) together 		d) without 

53.  allocution:	a) to	 		b) away from 		c) out of 		d) for 

54.  retrograde: 	a) again 		b) through 		c) backwards 		d) above 

55.  pellucid:		a) thoroughly 		b) towards 		c) without 		d) above 

56.  emit:		a) by		 	b) out of	 	c) towards	 	d) above 

Part 5:  Choose the word that is NOT from the same root as the others:

57.  a) mélange 		b) admixture	 	c) miniscule 		d) mestizo 

58.  a) mundane 		b) immunity 		c) munificent 		d) remuneration 

59.  a) lucrative 		b) elucidate 		c) illustrative 		d) translucence 

60.  a) collectivize 		b) eligibility 		c) ligament 		d) neglectable 

61.  a) fiduciary 		b) federation 		c) infidelity 		d) pontification 

62.  a) allusion 		b) prelude 		c) elucubrate 		d) elusive 

63.  a) manipulate 		b) impermanency 	c) remnant	 	d) immanency 

64.  a) morality 		b) mortality 		c) morosely 		d) mores 

65.  a) cognizant 		b) connubial 		c) nuptials 		d) nubile
 
66.  a) comparative 		b) compassionate 	c) expander 		d) patina
 
67.  a) inseparable 		b) proportional 	c) departmental 	d) impartial
 
68.  a) toast 			b) torrid 		c) distort 		d) torrent 

69.  a) intractable 		b) untrained 		c) attractive	 	d) traditional
 
70.  a) propellant 		b) compulsive	 	c) preponderance 	d) expel 

Tie Breakers:  The following questions will be scored only to break ties. Be sure to mark your answers at number 96-100. 

Select the answer choice that is closest in meaning to the italicized word.
96.  She was deposed after egregiously flouting the decorum of the meeting.
a) conspicuously badly 			b) famously negatively	
c) in a manner obviating procedures		d) by openly admitting failure 

97.  The species offspring inhabited the island for many generations.
a) palp 			b) progeny 		c) polypary 		d) oviparous 

98.  Choose the word that is NOT from the same root as the others:
a) intrusive	 	b) deconstruct	 	c) extrude 		d) unobtrusive 

Give the meaning of the Latin root from which these are derived:
99.  consummate:	a) highest 		b) take			c) eat	 		d) pig 

100. unilateral:	 a) wide 		b) lie hidden	 	c) side	 		d) wash 

